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Section A

1. For the following frequency distribution 

 


The upper limit of median class is

A. 15

B. 10

C. 20

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_X16QnykRI9o5


D. 25

Answer:

Watch Video Solution

2. What is the probability of an impossible event?

A. 1

B. 

C. wt difined

D. 0

Answer:

Watch Video Solution

1

https://dl.doubtnut.com/l/_X16QnykRI9o5
https://dl.doubtnut.com/l/_GvHWh4AIRnN5


3. If  is the mid-poiint of the line segment joing 

 then the point  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(3, − 6)

(0, 0) and (x, y), (x, y)

( − 3, 6)

(6, 6)

(6, − 12)

( , − 3)
3

2

4. The discriminant of the quadratic equation  is

A. 12

B. 84

C. 

D. 

4x2 − 6x + 3 = 0

2√3

−12

https://dl.doubtnut.com/l/_R3VYdXLUFhET
https://dl.doubtnut.com/l/_Ai6oNu8qiHK4


Answer:

Watch Video Solution

5. In the given circle if Figure-1, number of tangents parallel to tangents

PQ is 

Watch Video Solution

6.  is equal to

A. 8

8 cot2 A − 8 cos ec2A

https://dl.doubtnut.com/l/_Ai6oNu8qiHK4
https://dl.doubtnut.com/l/_BI1JcDKCazPL
https://dl.doubtnut.com/l/_kojvPvSSKRA8


B. 

C. 

D. 

Answer:

Watch Video Solution

1

8

−8

−
1

8

7. The point on x-axis which divides the line segment joining  and 

 in the ratio  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(2, 3)

(6, − 9) 1: 3

(4, − 3)

(6, 0)

(3, 0)

(0, 3)

https://dl.doubtnut.com/l/_kojvPvSSKRA8
https://dl.doubtnut.com/l/_y99xGjnr2egF


8. If a pair of linear equations is consistant , then the lines represented by

them are

A. parallel

B. intersecting or coincident

C. always councident

D. always intersecting.

Answer: B

Watch Video Solution

9. The total surface area of a frustum-shaped glass nuber is 

A. 

B. 

C. 

(r1 > r2)

πr1l + πr2l

πl(r1 + r2) + πr2
2

πhr2
1 + r2

2 + r1r2
1

3

https://dl.doubtnut.com/l/_y99xGjnr2egF
https://dl.doubtnut.com/l/_3aAJZMeJNjqG
https://dl.doubtnut.com/l/_QUnFtOaLLA2g


D. 

Answer:

Watch Video Solution

√h2 + (r1 − r2
2)

10.  can be expressed as a product of its prime factors as

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

120

5 × 8 × 3

15 × 23

10 × 102 × 3

5 × 23 × 3

11. Area of quadrilateral ABCD =Area of  area of ΔABC + _______

https://dl.doubtnut.com/l/_QUnFtOaLLA2g
https://dl.doubtnut.com/l/_ntATSut9LYYC
https://dl.doubtnut.com/l/_X0CFEJlVzbhm


Watch Video Solution

12. if the radii of two spheres are in the ratio , then the ratio of their

respective volumes is -----------------.

Watch Video Solution

2: 3

13. If 2 is a zero of the polynomial  then the value of  is 

Watch Video Solution

ax2 − 2x, a ______

14. A line intersecting a sirrcle in two points is called a 

Watch Video Solution

_____

15. All squares are

A. congurent

https://dl.doubtnut.com/l/_X0CFEJlVzbhm
https://dl.doubtnut.com/l/_qd8xuEBliHoE
https://dl.doubtnut.com/l/_V7o7MzggXXMx
https://dl.doubtnut.com/l/_AiLfoOwetvFl
https://dl.doubtnut.com/l/_CRPydG0FZLZT


B. similar

C. no similar and no congurent

D. none of these

Answer: B

Watch Video Solution

16. A dice is thrown once, If getting a six, is a success, then find the

probability of a failure.

Watch Video Solution

17. Find the value of x so that  are in AP

Watch Video Solution

−6, x, 8

18. Find the  term of the A.P. 11th −27, − 22, − 17, − 12, …

https://dl.doubtnut.com/l/_CRPydG0FZLZT
https://dl.doubtnut.com/l/_GqOetCo8Buka
https://dl.doubtnut.com/l/_sPrBTTKVSTLD
https://dl.doubtnut.com/l/_qTjDyxmN2bnm


Watch Video Solution

19. In the figure-2, the angle of elevation of the top of tower AC from a

point B on the ground is  . If the height of the tower is 20 m. find the

distance of the point from the foot of the tower. 

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_qTjDyxmN2bnm
https://dl.doubtnut.com/l/_oIrZNseXGnYe


20. Evaluate : 

Watch Video Solution

tan 40∘ × tan 50∘

21. If  then find the value of A.

Watch Video Solution

cos A = sin 42∘ ,

22. Find the height of a cone of radius 5 cm and slant height 13 cm.

Watch Video Solution

23. The value(s) of k for which the qudratic equation 

has equal roots, is

A. 4

2x2 + kx + 2 = 0

https://dl.doubtnut.com/l/_DTl3zSrExorF
https://dl.doubtnut.com/l/_DLUXfdPJpAOz
https://dl.doubtnut.com/l/_9LO1I3XUuRQY
https://dl.doubtnut.com/l/_K8IdNPaIaVCB


B. 

C. 

D. 0

Answer:

Watch Video Solution

±4

−4

24. Which of the followig is not an A.P?

A. , . .

B. , . ..

C. , . . .

D. , . . .

Answer:

Watch Video Solution

−1.2, 0.8, 2.8

3, 3 + √2, 3 + 2√2, 3 + 3√2

, , ,
4
3

7
3

9

3

12

3

, ,
−1

5

−2

5

−3

5

https://dl.doubtnut.com/l/_K8IdNPaIaVCB
https://dl.doubtnut.com/l/_66JrEoSUanIM
https://dl.doubtnut.com/l/_zV2zQdeU12sp


25. The radius of a sphere (in cm) whose volume is 12  , is

A. 3

B. 

C. 

D. 

Answer:

Watch Video Solution

π cm3

3√3

32 / 3

31 / 3

26. The distance between the points (m,-n) and (-m,n) is

A. 

B. 

C. 

D. 

√m2 + n2

m + n

2√m2 + n2

√2m2 + 2n2

https://dl.doubtnut.com/l/_zV2zQdeU12sp
https://dl.doubtnut.com/l/_WGphIZ455hWY


Answer:

Watch Video Solution

27. If Figure-1, from an external point P, two tangents PQ and PR are drawn

to a circle of radius 4 cm with centre O. if , then length of∠QPR = 90∘

https://dl.doubtnut.com/l/_WGphIZ455hWY
https://dl.doubtnut.com/l/_dBEpPSWxIYFs


PQ is 

A.  cm

B.  cm

C.  cm

D.  cm

3

4

2

2√2

https://dl.doubtnut.com/l/_dBEpPSWxIYFs


Answer:

Watch Video Solution

28. On dividing a polynomial p(x) by - 4, quotient and remainder are

found to be x and 3 respectively. The polynomial p(x) is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2

3x2 + x − 12

x3 − 4x + 3

x2 + 3x − 4

x3 − 4x − 3

29. In figure-2, . If  and  cm then  is

equal to

DE ∣ ∣ BC =
AD

DB

3

2
AE = 2.7 EC

https://dl.doubtnut.com/l/_dBEpPSWxIYFs
https://dl.doubtnut.com/l/_xEnnGZSt62lL
https://dl.doubtnut.com/l/_jqz9gJvBZPCQ


A. 2.0 cm

B. 1.8 cm

C. 4.0 cm

D. 2.7 cm

Answer: B

Watch Video Solution

30. The point on the axis which is equidistant from (-4,0) and (10,0) is ,

a) (7,0) 

(b) (5,0) 

c) (0,0) 

d) (3,0)

A. (7,0)

B. (5,0)

C. (0,0)

https://dl.doubtnut.com/l/_jqz9gJvBZPCQ
https://dl.doubtnut.com/l/_9oNlLQEWWveu


D. (3,0)

Answer:

Watch Video Solution

31. The centre of a circle whose end points of a diameter are (-6,3) and

(6,4) 

a) (8,-1) 

b) (4,7) 

c) (0, ) 


d) (4, )

A. (8,-1)

B. (4,7)

C. 

D. 

Answer:

7
2
7
2

(0, )
7
2

(4, )
7
2

https://dl.doubtnut.com/l/_9oNlLQEWWveu
https://dl.doubtnut.com/l/_3eY957h1fwUU


Watch Video Solution

32. the pair of linear equations 

3x/2+5y/3 =7 and 9x + 10y =14 is 

(a) consistent 

(b) inconsistent 

(c) consistent with one solution 

(d) consistent with many solutions

A. consistent

B. inconsistent

C. consistent with one solution

D. consistent with many solutions

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3eY957h1fwUU
https://dl.doubtnut.com/l/_BUqoSwZR36og


33. In figure-3, PQ is tangent to the circle with centre at O, at the point B.

if , then  is equal to 


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠AOB = 100∘ ∠ABP

50∘

40∘

60∘

80∘

https://dl.doubtnut.com/l/_dHEbGWfsM3bH


34. Simplest form of  IS

Watch Video Solution

1 + tan2 A

1 + cot2 A

35. If the probability of an event E happening is 0.023, then =______

Watch Video Solution

P( ¯̄̄E)

36. All concentric circles are..... to each other.

Watch Video Solution

37. The probability of an event that is sure to happen, is_____

Watch Video Solution

https://dl.doubtnut.com/l/_KXXDVMZue51T
https://dl.doubtnut.com/l/_SsB4A75elTgQ
https://dl.doubtnut.com/l/_2uWLN4kiI2ou
https://dl.doubtnut.com/l/_5eccOjjTgDJw


38. AOBC is a rectangle whose three vertices are A(0,-3), O(0,0) and B (4,0).

The length of its diagonal is__

Watch Video Solution

39. Write the value of .

Watch Video Solution

sin2 30∘ + cos2 60∘

40. Find a quadratic polynomial, the sum and product of whose zeroes

are  and , respectively.

Watch Video Solution

−3 2

41. Can  be a remainder while dividing x^2

+ 3` justify your amswer with reasons.

Watch Video Solution

(x2 − 1) x4 − 3x2 + 5x − 9by

https://dl.doubtnut.com/l/_blieae81oMh2
https://dl.doubtnut.com/l/_AMjxWkTPN32V
https://dl.doubtnut.com/l/_N7UiHIcVoEgF
https://dl.doubtnut.com/l/_qtodcuLo8wks


42. Find the sum of the first 100 natural numbers.

Watch Video Solution

43. The LCM of two numbers is  and their HCF is . If one of the

numbers is , find the other.

Watch Video Solution

182 13

26

44.  


If figure, the angle of elevation of the top of a tower from a point C on

https://dl.doubtnut.com/l/_qtodcuLo8wks
https://dl.doubtnut.com/l/_H692HeIAOOZH
https://dl.doubtnut.com/l/_7tuYfBRfibcY
https://dl.doubtnut.com/l/_fSgRow0ZBG0x


Section B

the ground which is 30 m away from the foot of the tower, is . Find th

height of the tower.

Watch Video Solution

30∘

1. In Figure  are show. If 

then find the value of  


Watch Video Solution

3, ΔABC and ΔXY Z

AB = 3cm, BC = 6cm, AC = 2√3cm, ∠A = 80∘ , ∠B = 60∘ , XY = 4√3

∠Y .

https://dl.doubtnut.com/l/_fSgRow0ZBG0x
https://dl.doubtnut.com/l/_kvE3GfmVIhAZ


2. Find the mean for the following distribution : 

Watch Video Solution

3. The following distribution shows the transport expenditure of 100

empolyess : 

Watch Video Solution

4. Solve for 

Watch Video Solution

x : 2x2 + 5√5x − 15 = 0

https://dl.doubtnut.com/l/_RRXw4OcDXw2d
https://dl.doubtnut.com/l/_E0HmgrpeC74J
https://dl.doubtnut.com/l/_fy2XVjyv3leG
https://dl.doubtnut.com/l/_peRBDJVOhanu


5. Check whether  can end with the digit  (zero) for any natural

number  .

Watch Video Solution

6n 0

n

6. If  , show that 

Watch Video Solution

5 tan θ = 4 =
5 sin θ − 3 cos θ

5 sin θ + 3 cos θ

1

7

7. 14 defective bulbs are accidentally mixed with 98 good ones. It is not

possible to just look at the bulb and tell whether it is defective or not.

One bulb is taken out at random from this lot. Determine the probability

that the bulb taken out is a good one.

Watch Video Solution

8. if  and  , 

 , then find the values of A and B.

tan(A + B) = √3 tan(A − B) =
1

√3

0( < )A + B( ≤ )90∘ , A( > )B

https://dl.doubtnut.com/l/_peRBDJVOhanu
https://dl.doubtnut.com/l/_zQQz9Rgj9LyZ
https://dl.doubtnut.com/l/_iPyB2T4PZ3M7
https://dl.doubtnut.com/l/_QGlQc0cUG9HM


Watch Video Solution

9. If a letter is chosen at random from the English alphabet, find the

probability that the letter chosen is (i) a vowel, and (ii) a cansonant.

Watch Video Solution

10. Solve for x : 

Watch Video Solution

√3x2 + 14x − 5√3 = 0

11. Find the mean for the following distribution : 

Watch Video Solution

https://dl.doubtnut.com/l/_QGlQc0cUG9HM
https://dl.doubtnut.com/l/_Q8Jki55jD2fW
https://dl.doubtnut.com/l/_fg1oklCf7f3E
https://dl.doubtnut.com/l/_j83eqWhqCwiM


12. The following distribution shows the transport expenditure of 100

exployees : 

 


Find the mode of the distribution.

Watch Video Solution

13. Check whether 
can end with the digit
0 for any natural number 
.

Watch Video Solution

6n n

14. Find the LCM of  and .

Watch Video Solution

150 200

https://dl.doubtnut.com/l/_g4nxqxlGxh5s
https://dl.doubtnut.com/l/_ppEzD8z1097a
https://dl.doubtnut.com/l/_PMLp4JXLbtdP


15. In figure - 3,  and  are shown. if AB = 3 CM, BC = 6 cm,

AC =  cm ,  = ,  =  , XY =  cm , YZ = 12 CM and XZ= 6

cm, then find the value of  

 

Watch Video Solution

△ ABC △ XY Z

2√3 ∠A 80∘ ∠B 60∘ 4√3

∠Y

https://dl.doubtnut.com/l/_KueLEIu0y59Z
https://dl.doubtnut.com/l/_rBNQ0Gps6QqA


16. A cone and a cylinder have the same radii but the height of the cone is

3 times that of the cylinder. Find the ratio of their volumes.

Watch Video Solution

17. In Figure, a quadrilateral ABCD is drawn to circumscribe a circle . 

Prove that 

 

Watch Video Solution

AB + CD = BC + AD

https://dl.doubtnut.com/l/_rBNQ0Gps6QqA
https://dl.doubtnut.com/l/_1EDHlrrVfP46
https://dl.doubtnut.com/l/_WYfzoFHZrij9


18. In Figure , find the perimeter of . If AP = 12 cm. 


Watch Video Solution

ΔABC

19. Find the mode of the following distribution : 

Watch Video Solution

https://dl.doubtnut.com/l/_WYfzoFHZrij9
https://dl.doubtnut.com/l/_pg8YJVJiSVpn
https://dl.doubtnut.com/l/_67NdhMTwVwvE


20. In Figure , If PQ || BC and PR || CD, prove that  . 


Watch Video Solution

=
QB

AQ

DR

AR

21. Show that 5+2  is an irrational number, where  is given to be an

irrational number.

Watch Video Solution

√7 √7

22. Check whether  can end with the digit 0 for any natural number n.

Watch Video Solution

12n

https://dl.doubtnut.com/l/_67NdhMTwVwvE
https://dl.doubtnut.com/l/_MumfRbDuEgOX
https://dl.doubtnut.com/l/_oBwfweOAJo1k


Section C

1. krishna has an apple orchard which has a  sized kitchen

garden attached to it . She divides it into a  grid and puts soil and

manure into it She growns a lemon plants at . A a coriander plants at B ,

an onion plants at C and a tamato plants at D. Her bushand Ram prasied

her kitchen graden and points out that on joining A, B, C, and D they may

form a paralleleogram Look at the below. figure carefully and answer the

following question. 

10m × 10m

10 × 10

https://dl.doubtnut.com/l/_oBwfweOAJo1k
https://dl.doubtnut.com/l/_LGkablWGWvB0


 


(i) Write the coordinates of the points A,B, C and D using the  grid

as coordinate axes. 

(ii) Find whether ABCD is a paralleogram or not .

Watch Video Solution

10 × 10

2. Prove that 
is an irrational number.

Watch Video Solution

√3

https://dl.doubtnut.com/l/_LGkablWGWvB0
https://dl.doubtnut.com/l/_Pm0fB9s4QEiS
https://dl.doubtnut.com/l/_vplZ7zocqk3V


3. Prove that : 

Watch Video Solution

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

4. The difference between two numbers is 26 and the larger number

exceeds thrice of the smaller number by 4. Find the numbers.

A. 38,12

B. 40,14

C. 37,11

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vplZ7zocqk3V
https://dl.doubtnut.com/l/_WosqrdNOutce


5. Solve for  : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x and y

+ = 13, − = − 2(x ≠ 0 and y ≠ 0)
2

x

3

y

5

x

4
y

(2, 3)

( , )
1
2

1

3

(4, 6)

( , )
1

4

1

6

6. In Figure -4 AB, and CD are two diameters of a circle with centre O

perpendiclualr to each other and OD is the diameter of the circle . If OA =

https://dl.doubtnut.com/l/_SIC3AnCdgYYB
https://dl.doubtnut.com/l/_6MFNWiarKILE


7 cm , then find the carea of the shaded region . 

Watch Video Solution

7. In Figure  is a square with side  cm. A circle is drawn

circumscribing the square . Find the area of the shaded region . 

ABCD 7

https://dl.doubtnut.com/l/_6MFNWiarKILE
https://dl.doubtnut.com/l/_igkcLRmGGc6D


Watch Video Solution

8. Construct a trinagle with its side 4 cm 5 cm and 6 cm . Then construct a

triangle similar to it whose sides are  of the correspoding sides of the

first trinagle .

Watch Video Solution

2

3

9. Draw a circle of radius 2.5cm. Take a point P at a distance of 8 cm from

its centre. Construct a pair of tangents from the point P to the circle.

https://dl.doubtnut.com/l/_igkcLRmGGc6D
https://dl.doubtnut.com/l/_Gu188YcDzJsN
https://dl.doubtnut.com/l/_Q2dhViPdq6wE


Watch Video Solution

10. If the sum of first 7 terms of an AP is 49 and that of 17 terms is
 289,

find the sum of first n terms.

Watch Video Solution

11. Construct a triangle of sides 4 cm, 5 cm and 6 cm and then a triangle

similar to it where sides are of the corresponding sides of the first

triangle.

Watch Video Solution

2

3

12. Draw a circle of radius 2.5cm. Take a point P at a distance of 8 cm from

its centre. Construct a pair of tangents from the point P to the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_Q2dhViPdq6wE
https://dl.doubtnut.com/l/_UhtCsxHaD58U
https://dl.doubtnut.com/l/_Z5IiyURX96Lk
https://dl.doubtnut.com/l/_H13zCf4Ehs6x
https://dl.doubtnut.com/l/_ry0iHvoaesWQ


13. If the  terms of two A.P.s 23, 25, 27, ….. And 5, 8, 11, 14, ….are equal,

then find the value of n.

Watch Video Solution

nth

14. If Figure - 4, AB and CD are two diameter of a circle (with centre O)

perpendicular to each other and OD is the diameter of the smaller circle.

IF OA = 7 cm, then find the area of the shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_ry0iHvoaesWQ
https://dl.doubtnut.com/l/_OGnNFCvf576d


15. In Figure - 5, ABCD is a square with side 7 cm A circle is drawn

circumscribing the square. Find the area of the shaded region. 

Watch Video Solution

16. Prove that opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_oqDIlk5wyYOS
https://dl.doubtnut.com/l/_A3t6K5jgGLcz


17. Krishna has an apple orchard which has a  sized kitchen

garden attached to it. she divides it into a  grid and puts soil and

manure into it. she grows a lemon plant at A, a coriander plant at B, an

onion plant at C and a tomato plant at D. Her husband Ram praised her

kitchen garden and points out that on joining A,B,C and D they may form

a parallelogram. look at the below figure carefully and answer the

following questions:
 (i) write the coordinates of the points A,B,C and D

using the  grid as coordinate axes.
 (ii) find whether ABCD is a

parallelogram or not.

Watch Video Solution

10m × 10m

10 × 10

10 × 10

https://dl.doubtnut.com/l/_vLpHIwJGLzNw
https://dl.doubtnut.com/l/_yX3GlL8yyOsd


18. Prove that : 

Watch Video Solution

+ = 2 sec A.
cos A

1 + sin A

1 + sin A

cos A

19. Prove that 
is an irrational number.

Watch Video Solution

√3

20. The difference between two numbers is 26 and the larger number

exceeds thrice of the smaller number by 4. Find the numbers.

Watch Video Solution

21. Solve for  : 

Watch Video Solution

x and y

+ = 13, − = − 2(x ≠ 0 and y ≠ 0)
2

x

3

y

5

x

4
y

https://dl.doubtnut.com/l/_yX3GlL8yyOsd
https://dl.doubtnut.com/l/_gN1Tbn3CWD6j
https://dl.doubtnut.com/l/_JH4fkqxqDI9q
https://dl.doubtnut.com/l/_FA5Zi8tcZkfX


22. if A, B and C are interior angles of a  ABC, then show that 

 = 

Watch Video Solution

△

cos( )
B + C

2
sin( )

A

2

23. Prove that : 

Watch Video Solution

(sin4 θ − cos4 θ + 1)cosec2θ = 2

24. Find the sum : 

Watch Video Solution

( − 5) + ( − 8) + ( − 11) + …. + ( − 230)

https://dl.doubtnut.com/l/_FA5Zi8tcZkfX
https://dl.doubtnut.com/l/_KZO8bq0fYGkX
https://dl.doubtnut.com/l/_dxW9hQshUKhZ
https://dl.doubtnut.com/l/_x6LjQI9UJNmU


25. Construct a  with sides BC = 6 cm, AB = 5 cm and 

. Then construct a triangle whose sides are  of the

corresponding sides of .

Watch Video Solution

ΔABC

∠ABC = 60∘ 3

4

ΔABC

26. Draw a circle of radius 3.5 cm. Take a point P outside the circle at a

distance of 7 cm from the centre of the circle and construct a pair of

tangents to the circle from the point.

Watch Video Solution

27. In Figure , ABCD is a prallelogram. A semicircle with centre O and the

diameter AB has been drawn and it passes through D. If AB = 12 cm and

https://dl.doubtnut.com/l/_7BCRKq416KAE
https://dl.doubtnut.com/l/_pMdvPIXAy30c
https://dl.doubtnut.com/l/_i99nnDAgmO4m


OD  AB. Then find the area of the shaded region. (Use ) 


Watch Video Solution

⊥ π = 3.14

28. Read the following passage and answer the questions given at the

end : 

DIWALI FAIR 

A game in a booth at Diwali Fair involves using a spinner first. Then, If

spinner stops on an Even Number, the player is allowed to pick a marble

from the bag. The spinner and Marbles are represented in Figure. Prizes

are given when a black marble is picked. Shweta played the game once. 

(i) what is the probability that she will be allowed to pick a marble from

the bag. 

https://dl.doubtnut.com/l/_i99nnDAgmO4m
https://dl.doubtnut.com/l/_i7AfirsJU7cQ


(ii) Suppose she is allowed to pick a marble from the bag. what is the

probability of getting a prize, when it is given bag contains 20 balls out of

which 6 are black.

Watch Video Solution

29. A fraction becomes  when 1 is subtracted from the numerator and it

becomes  when 8 is added to its denominator. Find the fraction.

Watch Video Solution

1

3
1

4

30. The present age of a woman is 3 years more than three times the age

of her daughter. Three years hence, the woman's age will be 10 years,

more than twice the age of her daughter. Find their present ages.

https://dl.doubtnut.com/l/_i7AfirsJU7cQ
https://dl.doubtnut.com/l/_slj0WO0xv0kN
https://dl.doubtnut.com/l/_KMMfGkzZl464


Watch Video Solution

31. Find the ratio in which the y-axis divides the line segment joining the

points (6, -4) and (-2, -7). Also find the point of intersection.

Watch Video Solution

32. Show that the points A(7, 10), B(-2, 5) and C(3, -4) are the vertices of an

isosceles right-angled triangle.

Watch Video Solution

33. Use Euclid's division lemma to show that the square of any positive

integer is either of the form 
or 
for some integer m.
[Hint: Let

x be any positive integer then it is of the form 
 , 
or 
Now

square each of these and sho

Watch Video Solution

3m 3m + 1

3q 3q + 1 3q + 2

https://dl.doubtnut.com/l/_KMMfGkzZl464
https://dl.doubtnut.com/l/_Dwt78Py6zlab
https://dl.doubtnut.com/l/_3ewz3QILaXU3
https://dl.doubtnut.com/l/_tJH19SHjtm2q


Section D

1. Two water taps together can fill a tank in hours. The tap of larger

diameter takes 10 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can separately fill the tank.

Watch Video Solution

9
3

8

2. A rectangular
park is to be designed whose breadth is 3 m less than its

length. Its area is
to be 4 square metres more than the area of a park that

has already been made
in the shape of an isosceles triangle with its base

as the breadth of the rectangular park of an altitude 12 m. Find the

length and breath of the rectangular park.

Watch Video Solution

https://dl.doubtnut.com/l/_tJH19SHjtm2q
https://dl.doubtnut.com/l/_lJc4P7G6aZAx
https://dl.doubtnut.com/l/_35WIM7vOdo9i


3. Find the curved surface area of frustum of a cone of height 12 cm and

radii of circular ends are 9 cm and 4 cm.

Watch Video Solution

4. If a line is drawn to one side of a triangle to intersect the other two

sides in distinct points, prove that the other two sides are divided in the

same ratio.

Watch Video Solution

5. In Figure -6 , in an equilateral triangle ABC, AD is perpendicular to BC ,

BE is perpendicular to AC and CF is perpendicular to AB . Prove that

https://dl.doubtnut.com/l/_L8edHBgHvaLb
https://dl.doubtnut.com/l/_vOm7BW4vctZQ
https://dl.doubtnut.com/l/_HM1KrqohBYz3


Watch Video Solution

4(AD2 + BE2 + CF 2) = 9AB2

6. Find other zeroes of the polynomial

, if two its sources are 

.

Watch Video Solution

p(x) = 3x4 − 4x3 − 10x2 + 8x + 8

√2 and − √2

https://dl.doubtnut.com/l/_HM1KrqohBYz3
https://dl.doubtnut.com/l/_O05lE9jVpfZ9


7. Divide the polynomial  by the polynomial 

 and verify the division algorithm.

Watch Video Solution

g(x) = x3 − 3x2 + x + 2

x2 − 2x + 1

8. A TV-tower stands vertically on a bank of a canal. From a point on the

other bank directly opposite the tower, the angle of elevation of the top

of the tower is . From another point 20 m away from this point on the

line joining this point to the foot of the tower, the angle of elevation of

the top of tower is  (see fig.) . FInd the height of the tower and the

width of the canal.

Watch Video Solution

60∘

30∘

9. दो पानी के  नल एक साथ एक हौज को  घंटो में भर सकते है । बड़े व्यास वाला नल हौज

को भरने में , कम व्यास वाले नल से 10 घंटे कम समय लेता है । प्रत्येक द्वारा अलग से हौज को

भरने के  समय ज्ञात कीजिए ।

Watch Video Solution

9
3

8

https://dl.doubtnut.com/l/_o4xZx8NAuzi1
https://dl.doubtnut.com/l/_o1oo0uitLfXI
https://dl.doubtnut.com/l/_1EH6Pl6NnKIg


Watch Video Solution

10. A rectangular
park is to be designed whose breadth is 3 m less than

its length. Its area is
to be 4 square metres more than the area of a park

that has already been made
in the shape of an isosceles triangle with its

base as the breadth of the rectangular park and of its altitude 12 m. Find

length and breath of the rectangular park .

Watch Video Solution

11. A
cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled

with
sand. This bucket is emptied out on the ground and a conical heap

of sand is
 formed. If the height of the conical heap is 24 cm, find the

radius and slant
height of the heap.

Watch Video Solution

https://dl.doubtnut.com/l/_1EH6Pl6NnKIg
https://dl.doubtnut.com/l/_WZFl3ZuVuapM
https://dl.doubtnut.com/l/_oJfZN24fVviA


12. From a point of a bridge across a riuver, the angles of depression of

the banks on opposite sides of the river are  and , respectively. IF

the bridge is at a height of 10 m from the banks, then find the width of

the river. (Use )

Watch Video Solution

30∘ 45∘

√3 = 1.73

13. Draw a 'less than' give for the following frequency distribution : 

Watch Video Solution

14. `If a line is drawn to one side of a triangle to intersect the other two

sides in distinct points, prove that the other two sides are divided in the

same ratio.

Watch Video Solution

https://dl.doubtnut.com/l/_MkDrTuUBJKZ4
https://dl.doubtnut.com/l/_vBc69wjRdSCy
https://dl.doubtnut.com/l/_cU03D4wIRaGg


15. In figure - 6 in an equilateral triangle ABC,

. Prove that 

 


Watch Video Solution

AD ⊥ BC, BE ⊥ AC and CF ⊥ AB

4(AD2 + BE2 + CF 2) = 9AB2

16. Find other zeros of the polynomial 

 


if two of its zeroses are 

p(x) = 3x4 − 4x3 − 10x2 + 8x + 8

√2 and − √2

https://dl.doubtnut.com/l/_wmv4IAbFpCgE
https://dl.doubtnut.com/l/_M8pNHXNaSk61


Watch Video Solution

17. Divide the polynomial  by the polynomial 

 and verify the division algorithm.

Watch Video Solution

g(x) = x3 − 3x2 + x + 2

x2 − 2x + 1

18. Sum of the areas of two squares is . If the difference of their

perimeters is 32 m. find the sides of two squares.

Watch Video Solution

544m2

19. A motor boat
whose speed is 18 km/h m still water takes 1 hour more

to go 24 km upstream
than to return downstream to the same spot. Find

the speed of the stream.

Watch Video Solution

https://dl.doubtnut.com/l/_M8pNHXNaSk61
https://dl.doubtnut.com/l/_88nwuBStfoiH
https://dl.doubtnut.com/l/_eNBQSXCmuaLp
https://dl.doubtnut.com/l/_SBwRyYMgF3Dr
https://dl.doubtnut.com/l/_VBQgTwmk3w9F


20. The distribution given below shows the number of wickets taken by

bowlers in one-day cricket matches . Find the mean and the median of the

number of wickets taken 

Watch Video Solution

21. A statue  tall, stands on the top of the a padestal. From a point

on the ground the angle of the elevation of the top of the statue is 

and from the same point, the angleo elevation of the top of the pedestal

is . Find so the height of the pedestal. [Use .]

Watch Video Solution

1.46m

60∘

45∘ √3 = 1.73

22. Obtain other zeroes of the polynomial

 if two of its zeroes are  and .

h id l i

p(x) = 2x4 − x3 − 11x2 + 5x + 5 √5 −√5

https://dl.doubtnut.com/l/_VBQgTwmk3w9F
https://dl.doubtnut.com/l/_EXBgIUZ6TNyw
https://dl.doubtnut.com/l/_zB2ZljKE7BEy


Watch Video Solution

23. What minimum must be added to  so that the

resulting polynomial will be divisible by ?

Watch Video Solution

2x3 − 3x2 + 6x + 7

x2 − 4x + 8

24. In a cylindrical vessel of radius 10 cm, containing some water, 9000

small spherical balls are dropped which are completely immersed in water

which raises the water level. If wach spherical ball is radius 0.5 cm , then

find the rise in the level of water in the vessel.

Watch Video Solution

25. `If a line is drawn to one side of a triangle to intersect the other two

sides in distinct points, prove that the other two sides are divided in the

same ratio.

Watch Video Solution

https://dl.doubtnut.com/l/_zB2ZljKE7BEy
https://dl.doubtnut.com/l/_dZWufcB76sq6
https://dl.doubtnut.com/l/_0B74e1pWHUZ5
https://dl.doubtnut.com/l/_QvT9veCAFswo


Section A

1. If (3,-6) is the mid point of the line segment joining (0,0) and (x,y), then

the point (x,y) is 

(A) (-3,6) 

(B) (6,-6) 

(C) (6,-12) 

(D) (3/2,-3)

A. (-3,6)

B. (6,-6)

C. (-6,12)

D. 

Answer:

Watch Video Solution

( , − 3)
3
2

https://dl.doubtnut.com/l/_QvT9veCAFswo
https://dl.doubtnut.com/l/_rtBRTEIZJJBF
https://dl.doubtnut.com/l/_aGUP5Lk8o1G1


2. In the given circle if Figure-1, number of tangents parallel to tangents

PQ is 

A. 0

B. many

C. 2

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aGUP5Lk8o1G1


3. The discriminant of the quadratic equation  is (A) 12

(B) 84
(C) 
(D) -12

A. 

B. 84

C. 

D. 

Answer:

Watch Video Solution

4x2 − 6x + 3 = 0

2√3

12

2√3

−12

4. For the following frequency distribution 

 


The upper limit of median class is

A. 15

https://dl.doubtnut.com/l/_LpI8Rs7n18tN
https://dl.doubtnut.com/l/_2tGNtP6gr77O


B. 10

C. 20

D. 25

Answer:

Watch Video Solution

5. If  , then A is equal to

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

cos A = , 0∘ < A < 90∘√3

2

√3

2

30∘

60∘

https://dl.doubtnut.com/l/_2tGNtP6gr77O
https://dl.doubtnut.com/l/_J7Ufrc5B8xgI
https://dl.doubtnut.com/l/_XJWDLhBP2bcd


6. The
probability of an impossible event is
 
(b) 
(c) 
(d)
non-existent

A. 1

B. 

C. Not defined

D. 0

Answer:

Watch Video Solution

0 1 1/2

1

2

7. If a pair of linear equations is consistent, then the lines represented by

them are

A. parallel

B. intersecting or coincident

C. always coincident

D. always intersecting

https://dl.doubtnut.com/l/_XJWDLhBP2bcd
https://dl.doubtnut.com/l/_84zIATsMgs2D


Answer:

Watch Video Solution

8. the distance between the points (3, ) and ( ,2) is 

a)  units 

b)  units 

c)  units 

d) 40 units

A.  units

B.  units

C.  units

D. 40 units

Answer:

Watch Video Solution

−2 −3

√52

4√10

2√10

√52

4√10

2√10

https://dl.doubtnut.com/l/_84zIATsMgs2D
https://dl.doubtnut.com/l/_iXxQbT8pBHbR
https://dl.doubtnut.com/l/_xIPvIjAxCf5k


9.  can be expressed as a product of its prime factors as

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

180

10 × 2 × 32

25 × 4 × 3

22 × 32 × 5

4 × 9 × 5

10. The total surface area of frustum shaped glass tumbler is  


(a)  


(b)  


(c)  


(d) 

A. 

(r1 > r2)

πr1l + πr2l

πl(r1 + r2) + π(r2)2

πh((r1)2 + (r2)2 + r1r2)
1

3

√h2 + (r1 − r2)2

πr2l + πr2l

https://dl.doubtnut.com/l/_xIPvIjAxCf5k
https://dl.doubtnut.com/l/_3De9HTFhOOrt


B. 

C. 

D. 

Answer:

Watch Video Solution

πl(r1 + r2) + πr2
2

πh(r2
1 + r2

2 + r1r2)
1

3

√h2 + (r1 − r2)2

11. If  is a zero of the polynomial  then the value of  is .......

Watch Video Solution

2 ax2 − 2x a

12. if the radii of two spheres are in the ratio , then the ratio of their

respective volumes is -----------------.

Watch Video Solution

2: 3

13. A line intersecting a circle in two points is called a _________.

https://dl.doubtnut.com/l/_3De9HTFhOOrt
https://dl.doubtnut.com/l/_ohs0gO074ePD
https://dl.doubtnut.com/l/_oPIVaZ98Tqi6
https://dl.doubtnut.com/l/_G4iuZxSHt357


Watch Video Solution

14. if ar( PQR) is zero, then the points P,Q and R A are --------------.

Watch Video Solution

( △ )

15. All squares are ___. (congruent/similar)

Watch Video Solution

16. A coin is tossed twice, the probability of getting head both the times

is

Watch Video Solution

17. Find the radius of the sphere whose surface area is .

Watch Video Solution

36πcm2

https://dl.doubtnut.com/l/_G4iuZxSHt357
https://dl.doubtnut.com/l/_eFTFQr6BeqAh
https://dl.doubtnut.com/l/_awwh0cagYtj2
https://dl.doubtnut.com/l/_4Z9C0cBSTM6j
https://dl.doubtnut.com/l/_9YrTY67OLM8j


18. Find the value of x so that  are in AP

Watch Video Solution

−6, x, 8

19. Find the  term of the A.P. 

Watch Video Solution

11th −27, − 22, − 17, − 12......

20. In figure , the angle of elevation of the top of a tower AC from a point

B on the ground is  . If the height of the tower is 20 m, Find the60∘

https://dl.doubtnut.com/l/_9YrTY67OLM8j
https://dl.doubtnut.com/l/_iSsQfzz4SLA7
https://dl.doubtnut.com/l/_FzZJz9OhC0Fn
https://dl.doubtnut.com/l/_tPlycjHWDFoB


distance of the point from the foot of the power . 

Watch Video Solution

21. Evaluate 

Watch Video Solution

tan 40∘ × tan 50∘

https://dl.doubtnut.com/l/_tPlycjHWDFoB
https://dl.doubtnut.com/l/_jAwegNzME9om


Question

22. If , then find the value of A.

Watch Video Solution

cos A = sin 42∘

1. The value(s) of  for which the quadratic equation 

has equal roots, is

A. 4

B. 

C. 

D. 

Answer:

Watch Video Solution

k 2x2 + kx + 2 = 0

±4

−4

0

https://dl.doubtnut.com/l/_sKQWOHbsmPcR
https://dl.doubtnut.com/l/_bDb0dyXSQxV6
https://dl.doubtnut.com/l/_ddcVCDbOiwpk


2. Which of the following in not an A .P .?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−1.2, 0.8, 2.8, ……

3, 3 + √2, 3 + 2√2, 3 + 3√2, ……

, , , , …
4
3

7
3

9

3

12

3

, ,
−1

5

−2

5

−3

5

3. In figure, From an external point P, Two tangents PQ and PR are drawn

to a circle of radius 4 cm with centre O . If  then length of∠QPR = 90∘

https://dl.doubtnut.com/l/_ddcVCDbOiwpk
https://dl.doubtnut.com/l/_v3C5JCg4Wx6Y


PQ is 

A. 3cm

B. 4cm

C. 2cm

D. cm

Answer:

2√2

https://dl.doubtnut.com/l/_v3C5JCg4Wx6Y


Watch Video Solution

4. The distance between the points (m,-n) and (-m,n) is 

(A)  


(B) m+n 

(C) 2  

(D) 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√m2 + n2

√m2 + n2

√2m2 + 2n2

√m2 + n2

m + n

2√m2 + n2

√2m2 + 2n2

5. A quadratic polynomial, whose zeroes are  and , is−3 4

https://dl.doubtnut.com/l/_v3C5JCg4Wx6Y
https://dl.doubtnut.com/l/_3FwKLvyt1ieV
https://dl.doubtnut.com/l/_gUgOQIsx64th


A. 2

B. 1

C. more than 3

D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gUgOQIsx64th


6. In figure ABC is an isosceles triangle , right angled at C . Therefore 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

AB2 = 2AC2

BC2 = 2AB2

AC2 = 2AB2

AB2 = 4AC2

https://dl.doubtnut.com/l/_sjqq69ZZ7Uv4


7. The point on the axis which is equidistant from (-4,0) and (10,0) is ,

a) (7,0) 

(b) (5,0) 

c) (0,0) 

d) (3,0)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(7, 0)

(5, 0)

(0, 0)

(3, 0)

8. The centre of a circle whose end points of a diameter are (-6,3) and (6,4)

a) (8,-1) 

https://dl.doubtnut.com/l/_sjqq69ZZ7Uv4
https://dl.doubtnut.com/l/_u2BAKviUKwmf
https://dl.doubtnut.com/l/_cMxlMsYpqykR


b) (4,7) 

c) (0, ) 


d) (4, )

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

7
2
7
2

(8, − 1)

(4, 7)

(0, )
7
2

(4, )
7
2

9. The pair of linear equations 

 is

A. consistent

B. inconsistent

C. consistent with one solution

+ = 7 and 9x + 10y = 14
3x

2

5y

3

https://dl.doubtnut.com/l/_cMxlMsYpqykR
https://dl.doubtnut.com/l/_3hVFAIXe9GKs


D. consistent with many solutions

Answer:

Watch Video Solution

10. In figure PQ is tangent to the circle with centre at O at the point B , if

, then  is equal to 

A. 

B. 

∠AOB = 100∘ ∠ABP

50∘

40∘

https://dl.doubtnut.com/l/_3hVFAIXe9GKs
https://dl.doubtnut.com/l/_6Q01ZTYKC2gZ


C. 

D. 

Answer:

Watch Video Solution

60∘

80∘

11. The radius of a sphere (in cm) whose volume is 12  , is 


(A) 3 

(B) 3  

(C)  


(D) 

A. 3

B. 

C. 

D. 

π cm3

√3

32

3
31

3

3√3

32 / 3

31 / 3

https://dl.doubtnut.com/l/_6Q01ZTYKC2gZ
https://dl.doubtnut.com/l/_dQkvVaeL6hx6


Answer:

Watch Video Solution

12. Can  be a remainder while dividing  by 

 justify your amswer with reasons.

Watch Video Solution

(x2 − 1) x4 − 3x2 + 5x − 9

x2 + 3

13. Find the sum of the first 100 natural numbers.

Watch Video Solution

14. Evaluate : 

Watch Video Solution

2sec 30∘ × tan 60∘

https://dl.doubtnut.com/l/_dQkvVaeL6hx6
https://dl.doubtnut.com/l/_O7R3PWIMd3Su
https://dl.doubtnut.com/l/_GaxYagdmzqce
https://dl.doubtnut.com/l/_62BSkszqnXWg
https://dl.doubtnut.com/l/_IyzKmQX71Sfj


15. The angle elevation of the top of a tower from a point C on the

ground. Which is 30 m away from the foot of the tower is  . Find the

height of the tower. 

Watch Video Solution

30∘

16. In Figure, a quadrilateral ABCD is drawn to circumscribe a circle . 

Prove that 

https://dl.doubtnut.com/l/_IyzKmQX71Sfj
https://dl.doubtnut.com/l/_X2mGEa1L9cp8


 

Watch Video Solution

AB + CD = BC + AD

https://dl.doubtnut.com/l/_X2mGEa1L9cp8


17. Find the perimeter of , if AP=12 cm 

Watch Video Solution

ΔABC

18. How many cubes of side 2 cm can be made from a solid cube of side 10

cm ?

Watch Video Solution

https://dl.doubtnut.com/l/_VobhqfTdLTC3
https://dl.doubtnut.com/l/_ECb6kKwHMOAc


19. In the given figure, . 


Prove that  

Watch Video Solution

DE||AC and DF ||AE

=
BF

FE

BE

EC

20. Show that 5+2  is an irrational number, where  is given to be an

irrational number.

Watch Video Solution

√7 √7

https://dl.doubtnut.com/l/_zIFkqYywCXao
https://dl.doubtnut.com/l/_x2xkQWF0LjFn


21. Check whether  can end with the digit  for any natural number .

Watch Video Solution

12n 0 n

22. If A, B and C are interior angles of a , then show that 


.

Watch Video Solution

ΔABC

cot( ) = tan( )
B + C

2

A

2

23. In Figure , a square OPQR is inscribed in a quadrant OAQB of a circle. If

the radius of circle is  cm, find the area of the shaded region 6√2

https://dl.doubtnut.com/l/_wAjL04mJ1lVL
https://dl.doubtnut.com/l/_O3TNMqMcLzIW
https://dl.doubtnut.com/l/_tAsx1fDOPvc0


Watch Video Solution

24. Draw a triangle ABC with side BC = 6 cm, AB = 5 cm and .

Then construct a triangle whose sides are  of the corresponding sides

of the triangle ABC.

Watch Video Solution

∠ABC = 60∘

3

4

https://dl.doubtnut.com/l/_tAsx1fDOPvc0
https://dl.doubtnut.com/l/_hxSqhvtYbMZ4


25. Draw a circle of radius 3.5 cm . Take a point P outside the circle at a

distance of 7 cm from the centre of the circle and construct a pair of

tangents to the circle from the point.

Watch Video Solution

26. Prove that : 

Watch Video Solution

= cot θ
2 cos3 θ − cos θ

sin θ − 2 sin3 θ

27. A fraction become 1/3 when 1 is subtracted from the numerator and it

becomes 1/4 when 8 is added in the denominator. Find the fraction.

Watch Video Solution

28. The present age of a
father is three years more than three times the

age of the son. Three years
hence, fathers age will be 10 years more than

https://dl.doubtnut.com/l/_5LiliK9rZsOd
https://dl.doubtnut.com/l/_w1ihrMe5i3DA
https://dl.doubtnut.com/l/_0uFcjN2mPeMe
https://dl.doubtnut.com/l/_uxJ7nTmBtzCM


twice the age of the son.
Determine their present ages.

Watch Video Solution

29. Using Euclid's Algorithm, find the largest number which divides 870

and 258 leaving reminder 3 in each case .

Watch Video Solution

30. find the ratio in which the y-axis divides the line segment joining the

points (6,-4) and ( -2,-7 ). also find the point of intersection.

Watch Video Solution

31. Show that the points A(7, 10), B(-2, 5) and C(3, -4) are the vertices of an

isosceles right triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_uxJ7nTmBtzCM
https://dl.doubtnut.com/l/_dfegsOryK9GE
https://dl.doubtnut.com/l/_WniLjJEA75y3
https://dl.doubtnut.com/l/_v0iBeH7MKzrw
https://dl.doubtnut.com/l/_dn1iNrAUjCM5


32. In an A.P. given that the first term (a) = 54, the common difference (d) =

-3 and the  term , find n and the sum of first n terms  of

the A.P.

Watch Video Solution

nth (an) = 0 (Sn)

33. Read the following passage and answer the questions given at the

end : 

DIWALI FAIR 

A game in a booth at Diwali Fair involves using a spinner first. Then, If

spinner stops on an Even Number, the player is allowed to pick a marble

from the bag. The spinner and Marbles are represented in Figure. Prizes

are given when a black marble is picked. Shweta played the game once. 

(i) what is the probability that she will be allowed to pick a marble from

the bag. 

(ii) Suppose she is allowed to pick a marble from the bag. what is the

probability of getting a prize, when it is given bag contains 20 balls out of

https://dl.doubtnut.com/l/_dn1iNrAUjCM5
https://dl.doubtnut.com/l/_06jXiofvSoYJ


which 6 are black.

Watch Video Solution

34. Sum of the ares of two squares is 544 . if the difference of their

perimeters is 32. find the sides of two squares.

Watch Video Solution

m2

35. A solid toy is in the form of a hemisphere surmounted by a right

circular cone of same radius. The height of the cone is 10 Cm and the

radius of the base is 7 cm. Determine the volume of the toy. Also find the

area of the coloured sheet required to cover the toy. (Use  and 

)

π = 22/7

√149 = 12.2

https://dl.doubtnut.com/l/_06jXiofvSoYJ
https://dl.doubtnut.com/l/_9NQx68BRcCru
https://dl.doubtnut.com/l/_0j9FJfMnGiQj


Watch Video Solution

36. For the following data, draw a 'less than' ogive and hence find the

median of the distribution. 

Watch Video Solution

37. The distribution given below shows the number of wickets taken by

bowlers in one-day cricket matches. find the mean and the median of the

number of wickets taken

Watch Video Solution

https://dl.doubtnut.com/l/_0j9FJfMnGiQj
https://dl.doubtnut.com/l/_NCnl4pWTLUcW
https://dl.doubtnut.com/l/_qi1F3uvI0m6T
https://dl.doubtnut.com/l/_WrHw4lG6QXEK


38. From a
point on the ground the angles of elevation of the bottom and

top of a
transmission tower fixed at the top of 20m high building are 

and 
respectively.
Find the height of the transmission tower.

Watch Video Solution

45o

60o

39. PYTHAGORAS THEOREM : In a Right angled triangle; the square of

hypotenuse is equal to the sum of the squares of the other two sides.

Watch Video Solution

40. Obtain other zeroes of the polynomial

 if two of its zeroes are  and .

Watch Video Solution

p(x) = 2x4 − x3 − 11x2 + 5x + 5 √5 −√5

41. What minimum must be added to  so that the

resulting polynomial will be divisible by ?

2x3 − 3x2 + 6x + 7

x2 − 4x + 8

https://dl.doubtnut.com/l/_WrHw4lG6QXEK
https://dl.doubtnut.com/l/_JmkkEnXr71R1
https://dl.doubtnut.com/l/_sSRo3A5o2b2P
https://dl.doubtnut.com/l/_lDIMH9kU0VKX


Watch Video Solution

https://dl.doubtnut.com/l/_lDIMH9kU0VKX

